Further Practices


Further Practice 3.1

Basic

1. Awang Budiman earns an income of $3600 per month. He spends 15% of his income on clothing, 30% on food, 10% on accommodation and 20% on entertainment. He saves the remainder. How much does he save per month?
2. Mr Rahmat works in a factory that pays $6 per hour. He works 5 hours a day for 
6 days a week. The rate for overtime is $10 per hour.
(a) 
If Mr Rahmat worked 2 hours overtime on a particular week, find his earnings for 


that week.
(b) 
If Mr Rahmat earned $240 on a particular week, how many hours of overtime did he work?
Intermediate

3. The following information shows how Amin spends his monthly salary.
·  Amin gives his parents $500.

·  He spends $300 on transport.

·  He spends 15% of his salary on food.

·  He saves the rest.

(a) 
If Amin spent $240 on food, how much is his monthly salary?
(b)
How much did Amin save?
(c) 
How many months will Amin have to save for a trip that will cost him $2600?

4. A salesman applying for a job is given a choice of two salary packages.
·   Package A: Basic salary of $2000 with a commission of 5% of the total amount 
  of goods he sold.
·   Package B: Basic salary of $1800 with a commission of 10% of the total amount 
  of goods he sold.

The salesman is confident that he could sell $5000 worth of goods per month. Which salary package should he take? 
Challenging

5. Mr Tan, a car salesman, has a basic monthly salary of $1500. He sold cars amounting to $1 270 000 in a certain month. He received a commission of 1.5% on the value of the sales. He set aside 10% of his earnings for a business fund, $2000 for his own expenses, and gave the rest of the money to his wife. Mrs Tan spent 60% of this money on household expenses and saved the rest.

(a)
Find Mr Tan’s total take-home pay for the month.

(b) 
Mr Tan needs $80 000 for his business fund. If he decides to set aside the same amount of money each month, how many months will it take Mr Tan to save the fund?
(c) 
What is Mr Tan’s savings as a percentage of the total take-home pay for the month? Give your answer correct to 3 significant figures.
Further Practice 3.2

Basic

1. In each of the following, find (i) the profit, (ii) the percentage profit.

(a) 
Cost price = $4, Selling price = $8

(b) 
Cost price = $10, Selling price = $12

2. In each of the following, find (i) the loss, (ii) the percentage loss.

(a) 
Cost price = $6, Selling price = $5

(b) 
Cost price = $16, Selling price = $12.50

Intermediate

3. Mrs Chong bought 20 crates of eggs at $5 per crate. Each crate has 60 eggs. 
2% of the eggs cracked. She repacks the good eggs and sells them at $1.50 per dozen. 
(a) 
How much profit does she make?
(b) 
What is the percentage profit?
4. A cyclist sold his bicycle for $264 and made a loss of 12%. How much did the cyclist originally pay for the bicycle? 
Challenging

5. Mr Hamid bought 1500 tyres at 10 for $280. He sold 1000 of them at 4 for $120 and the rest at 2 for $68.
(a) 
Find his profit or loss.

(b) 
Express the answer you found in part (a) as a percentage of his cost price, leaving your answer in 2 decimal places.

(c) 
If Mr Hamid had sold 1000 tyres at 4 for $130 and the rest at 2 for $64, how much more or less would he have made compared to his original sale?

Further Practice 3.3

Basic

1. A restaurant is having a promotion where customers will be given a discount of 13% on the total bill if they pay by credit card. Find the net price of a meal that costs $152.40.

2. A sports shop is having a sale of 15% off on all items. Roger paid $74.80 for some items he bought during the sale. How much would he have paid if there were no sale?

Intermediate

3. Store A is selling a sofa, with a usual price of $400, at $328. Store B is selling another sofa, with a usual price of $485, at $405. Which store gives a higher percentage discount?

4. Fred bought a skateboard for $24.30 after he was given a discount of 10% on the usual price. Then, he bought a helmet for $72.25 after he was given a discount of 15% on the usual price. How much money did Fred save?
Challenging

5. Joe had 100 baseball cards. He bought each baseball card at the same price. He sold 65 of the cards at a profit of 25%. He sold the rest of the cards at a discount of 30%. Find the percentage profit or loss incurred by Joe.
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